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1. 4x4, 6x6, 8x8 XN
2. The values in each cell are from the set {1, 2, ..., n}
B AR R E i~ Sudoku g |~
3. No repetition is allowed in each row and each column P T 1% F,— i fElE 7 {H 2 ;
4. In addition, the values in each non-regular subblocks should 1. Sudoku Dragon http://www.sudokudragon.com/sudokuvariants.htm
satisfy the labeled arithmetic constraints, e.g. 2. World Puzzle Federation
13+ is satisfied by 2+5+6=13, 1- is satisfied by 4-3=1, http://www.worldpuzzle.org/championships/types-of-puzzles/iwsc/
36* is satisfied by 6*6*1=36, and 3/ is satisfied by 6/2=3 3. Sudoku Splash Zone
http://www.sudokusplashzone.com/sudoku-variations/sudoku-variation-select.php
a1 51 EE 4. Hubpages
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http://somethingrandom.hubpages.com/hub/X-Different-Types-of-Sudoku-That-
You-Should-Try
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